S M6 E 48 28 ALY

AR B R =

HLR ZHER | R2IES “4 2xE BREALESEE (M) |FHLE ) | AFLESL
FELERER |R-&®FE| 413 g%m:gﬁ@%%i%i‘% (R RBE 2,220,000 - 1
SEERYEHEERR = =R
ERERE e85 414 |BREEATBMEAREE ;E’EEWW*@ 1,450,000 1
whBETAvzoNE| Y- RH| 421 ’z%fﬁ‘?&?:)wbﬂﬂ BRI EH M () 1,034,170 -l 1
TEREEIYE| MR- B 423 ;I'J_m“'*wﬁmﬁ{% BEEMEE T (%) 49,300,000 - 1

RIBER  |&-E&%| 433 | KIOHBERBEUIAREL E;;?E%U_Z 2,302,000 - 1

SRR (-5 434 [~y TEHIRI iﬁlﬁﬁfﬁ?l/— 5,600,000 - 1
HRITHRER (RAHRR) RO =

BREER |ne-ah| 43 (7o PRERETARES 5, o1 2400000 | 1

HEREESR (W&’ 447 fﬁ;ﬁ‘ﬁimmtﬂﬁﬁﬁ%i% (B)BEEX 1,235,000 - 1

FroREE | NGB 451 B RSRAMREEA () LhofaR 3 1,372,000 -

AHB




HAEBEAVICALBRE

TH6EE | HHR FELERHR HREH BL ¥ 413 5

#* & RETIEIHBEERTEBERR

B 1T & Ff| REBEHERES—TAH FE1THIR 328 HFR

M+ B K S M6F4H 248 118£30% S| S 6 &£ 5 A8 8 A

AfLBEHME S 6 F 4 85 H E 4 fM74%3 A3 H

% i B ez RITE 2,220,000 I
e XIEER % 1 [ £ =] RiE

Next—i(#%) LI X & 2,780,000

(%) LM AL UWNRTRR iR

()RS 2,220,000 &AL

FRVIRIWAR AV Y ILTA2T 2,650,000

(%) BARRFHRRRT

R




HAEBEAVICALBRE

TH6ERE | HIEK ERERR Mm% BI $ 44 5

% & SHFERHSHEERRRMEREBMEFHFRBERR

B 1T & Fr| SREBEHEF FE 1T HAfE 65 HfH

M+ B K S M6F4H 248 1085305 = S 6 &£ 5 A8 8 A

AfLBEHME S 6 F 4 85 H z S Mme &7 A 1A

% A B BAEERGHEEXE RITE 1,450,000 I
e XIE &R £ 1 [H 5 =l Rig

970/ 74— LENR (#%) iR

AEFENRI (¥) iR

K=ZEHI (B LM XE 1,599,900

(M) 3—21—EDRREBRE XM iR

BAREMR ) BREXE 1,450,000 &AL




HAEBEAVICALBRE

THeEE | HIR FREB[IOCILNE YR-RHE BT F 421 B

#* & REBETIERTOAILVEEEEA

[E 17 & Fr| REWEREHFEIODIILE FE 1T HAfE 36

M+ B K S M6F4H 248 138309 = 4 e oF 48 2 A

AfLBEHME S 6 F 4 85 H z 4 e &£5 A 31 A

% Al B EEREEM0D) RITE 1,034,170 F
e XIEER % 1 [ 5 =l RiE

R HEZHHM (%) 1,034,170 &AL

1Rt REE A (%) 1,062,950

EFHE iR

(B) LYy 1,200,900




HAEBEAVICALBRE

TH6EE | HUER TREEIKYE Y&R-&H BI $ 423 B

% £ Jx)—BBLEGHBREERE

B 1T & Fr| ZHEBETENYY BTHIR 52 B

M4 BE S fM64F4 A 248 1185305 = 4 e £ 5 A 8 A

AfLBHE S M6 F 4 A58 z S Me &6 A 28H

A B EEEMBIG RITE 49,300,000 3
e XIE &M % 1 H % 2 [@ R

RS T (%) 49,300,000 %EH,

() ATHEEMFT 51,100,000

MHITBE I S =7UV Y (%) IR

FRES &M (BR) 49,500,000

BAEMEE T (#%) 50,200,000

I ToDURYY 51,000,000

Yot4 (%) TEIS iR




HAEBEAVICALBRE

THeEE | HIR RIER ME-R% EI F£ 433 B

% #| KIDHERBEUNRfEL

B 1T & Fr| =REBHH FE1THAR 206 HRE

M+ B K S M6F4H 248 1085305 = S 6 &£ 5 A8 8 A

AfLBEHME S 6 F 4 85 H z S M6 & 11 A2 H

E AL B ANIRBU—R () RITE 2,302,000 F
e XIE &R £ 1 [H 5 =l RiE

A2 —X (%) 2,302,000 &AL

HIEERD—(BR) iR

[iF7IAVES -3¢ D) IR

(¥R HAEEHN iR

AHBAY—EX ) BREXE 3,422,000




HAEBEAVICALBRE

DH6EE | HLHR fEEER @R BT % 434 B

% & K<y TR

B 17 %5 Fr| REWERR BTHIR 115 BRE

M4 BE S fM64F4 A 248 1185305 = 4 e £ 5 A 8 A

ALEME H M6 F 4 A58 ES M6 F 8 A 3 H

% A B RBAI—KL—SalAMNER RITE 5,600,000
BmE XA R % 1 H g 2 M Ri&

(BR) BTV Ty R BRI E % 5,800,000

#HE@ILEA BEI0=— R

RN (BR) $8 R 35 10,560,000

(¥k) B ERtaR 3 7,215,000

(k%) 18 Z ENRI 22,786,000

() BEAI—RL—avhm Xzt 5,600,000 &AL

MR BEBXRFETOT Y 14,500,000




HAEBEAVICALBRE

HH6FEE | HYR R EER MEm-1&% EI 5§ 443 5

#* & BRITRER(FHRR) RUIT5—F2ERETRREBRT

B 1T & Fr| REHEF it FE1THAR 335 HR

M+ B K S M6F4H 248 138309 = 4 6 &£ 5 A8 1A

AfLBEHME S 6 F 4 85 H z 4 M74%3A831AH

% 4 % To-BFTEGAM RITE 2,400,000 I
e X E R £ 1 [H 5 =l RiE

OKIZ AR T % (¥k) i 4t iR

BAREERR (BR) LN 4T iR

ZVLBEBFIEM)RBEXE IR

Ia—BFIXRHE A+ 2,400,000 &AL

BREF () 3,000,000




HAEBEAVICALBRE

TH6EE | HHR HREER ME-RE BT £ 47 B

#* & RETAXLHRESEHEL

B 1T & Fr| =REBHH FE1THIR 328 HFR

M+ B K S M6F4H 248 108%30% S| S 6 &£ 5 A8 8 A

AfLBEHME S 6 F 4 85 H z 4 M74%3A831AH

% Al B (A mmEg RITE 1,235,000 F
e XIEER % 1 [ £ 2 [ RiE

(B)BBEX 1,235,000 &AL

(kR AlER 1,335,000

() 1EVVERIE % 1,995,000

\E)VF— 1,450,000

(BR) L AL BA#R & TR S AT 4B i =2 3R 1,500,000




HAEBEAVICALBRE

TH6EE | HHR FELRELVE— PR-EHE EI $ 451 5

#* % BREEREHRBEA

B 1T & Ff| REBETREB-TEI1HFIS FE 1T HAfE 50 HfE

M+ B K S M6F4H 248 138309 S| 4 e oF 48 2 A

AfLBEHME S 6 F 4 85 H E S M6 &6 A 14H

% AL E| ) LRYBEELEALN RITE 1,372,000 I
e XIEER % 1 [ £ 2 [ RiE

(B) 7 AT LB E %L F&m

(B)Z47Y—EX 1,588,620

(¥R) Lo 1R E R AER 1,372,000 EALCLITEYRE)

(R A & 1,400,000

(BR)*v 1,372,000




